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SECTION I
1 (2 axdl owiadl-l wd auadl, dd e qvil
(b) etardl 20110 aadl ol uxl sl
2 {a) el owidd- Al Anandl.
(b) el 2wl waleil-l wal s
3 (a) Rl Rwas sl wd wsedl, df g @il
) DA WRA wRell wrd Wt 82, RARRE Wt g Al ge wwetd ek wldl
Gur ¢ 15-19 20-24 25-29 30-34 35-39 40-44 45-49
Al A © 32,000 30,000 29,000 27,000 25000 24,000 22,000
A w-lal
sasil vl @ 480 1050 1508 2025 2250 792 264
4 (a) auyl @uil. AEL FHER, CUUege, Wel YyER Wlbid yoER
) DA WRE wedll old wdr-d Wel A Wi yeyer el @A wRlee vl
Gz wd A e B
gl Yy Av drell Hey Anl
15 % dell el 18,000 270 15,000 330
15-30 35,060 1050 25,000 750
30-56 40,000 1400 35,000 1225
50-60 25,000 1100 30,000 1260
60 % ddl ay 12,000 480 16,000 250
5 (@ yaus sl v wd Guuilbial @l
) QA R vl @rduz, wel wd Bkl yus wis wldl
2016 © 2019
93, o o2y CIC] g2l
A 12 40 15 45
B 8 25 12 35
C 22 12 35 22
D 15 8 20 12
6 (a) wa- FMale Wil yas wisl wd A a uuwdl
(b) A2 R wredll wast Fals wddl yus wis
UYL D ulRts 543l BERT 23881 LY
W (%) c 25 30 20 15 10
(Bua (2018) . 40 250 12 400 20
Bya (2020) : 50 400 21 440 32
7 @ Aty gell wd wrondl ddl Guuilba wsusl.
(b DA wRA well 3 el wRa wduadl veedl qag wl veusiell- adue Wl
oy : 2008 2009 2010 2011 20612 2013 2014 2015 2016 2017 2018 2019

Ul 38 45 40 52 55 63 60 70 72 80 34 79 Lo,
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Ails Aol yeusaa wled g2 Aqu (ARw sl aul s

QA R well i asldl A PRv ager i wlse dadl vl ad 2021
we «sl el

of ;2012 2013 2014 2015 2016 2017

dwet ;120 18 20 23 30 26

SECTION 11
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2011 sl owetddl ywer 201181 euadl adl beell odl?

(a) 101 5203 (b) 111 503 (c) 121 A (d) 131 5W

20110 ardll swiddl ywer ourdd el ay awdl diad uw sy &2

(2) Gz 2 (b) AxUd (¢) HeRPg (d) u& U

20110 arell 2idl etrd-ll ¥l axdl awdal edl?

(a) way (b) 10l (¢) 1280l (@) 1530

B Ycger dlaal AL sut el Gualdl sl wud 8?

(@) s (b) culRd s () stz Hws (d) ww

O wd-l wiRleuAdl wvipiell saL sl AL Gualal sl wid ©?

(@) s (b) ollRd Hews (c) oulnr Hes (d) H2RY

ol axdll dleddl g2 kedl ad wd 87

(@ e al () e 5 a¥ (¢) e 10 a¥d (d) e 15 «i

wafad Add 2qar CBR___GFR

(@) = (b) < (c) » (d) <

wad Rale vl yus s dldal AR suL Wl Gualdl szl wud 87
(@) 4s (b) ol ®ws (0) deldr wes (d) HeRy

waay -l yus wis hedl sl 8?

(ay 100 (b) 10 (c) 110 (@) O

Ws axgel oua 3. 20 ol adld 3. 28 wn O dl Al yas wis el wi ?
(a) 108 (b) 128 (c) 140 (d) 100

S sR8 Al vuasH uddl weigl da usdl auue ©?

(a) Adsiel auue (b) Wl ause (c) ulu quue (d) »2uslEs (uelss) quue
Wl quae kar sl quue ©?

(a) Qdsidit (b) 2w sl (o) weles (@) uldu
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ENGLISH VERSION

(1) Attempt any three questions from questions 1 to 8 of section 1

(2) Section II question 9 is compulsory.

Explain meaning of population census and write its importance.

Disucss population census of 2011 in India.

Explain methods of population census.
Discuss limitations of population census.

Explain meaning of demography and write its importance.
From following data, calculate General Fertility Rate, Specific Fertility Rates and Total Fertility Rate. 7

Age < 15-19 20-24 25-29
No of Females : 32,000 30,000 29,000
No of live births: 480 1050 1508

30-34 35-39 40-44
27,000 25,000 24,000
2025 2250 792

Write definitions @ Crude Birth Rate, Infant Mortality Rate, Crude Death Rate, Standardized

Death Rate

Find crude and standardized death rates of both cities from following data.Also compare hea

of two cities

Age Cirty A
Polulations No of deaths
15 or less then 15 18,000 270
15-30 35,000 1050
30-50 40,000 1400
50-60 25,000 1100
60 or above 60 12,000 480

Write meaning and uses of Index Number.

From following data, find Laspeyer’s, Paasche’s and Fisher’s index numbers.

ftem 2016 2019
Price Quality Price  Quality
A 12 40 15 45
B 8 25 12 35
C 22 12 35 22
D 15 8 20 12

City B
Polulations No of deaths

15,000 330
25,000 750
35,000 1225
30,000 1260
10,000 250

Explain meaning and construction of cost of living index number.

From following data cost find of living index number.

Group Food Clothes Fuel
Expenditure(%) : 25 30 20
Price (2018) : 40 256 12
Price (2020) : 50 406 21

House  Others
15 10
400 20
440 32
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7 (a) Explain meaning of time series and state ifs utility. 7
(b) Find trends and short term varitations by using three yearly moving averages from following data 7
Yera . 2008 2009 2010 2011 2012 2013 2014 20152016 2017 2018 2019
Sale : 38 45 40 52 55 63 60 70 72 80 84 79
8 (a) Whatis meant by analysis of time series? Discuss its components. 7
(b ) Fit and equation of a straight line from following data and estimate for the year 2021. 7
Year < 2012 2013 2014 2015 2016 2017
Profit 12 18 200 23 30 26
SECTION II
8

9 Give answer by selecting an appropriate option (any 8) :
(1) What was the population of India in 2011 according to Population Census of 20117
(a) 101 Crore (b) 111 Crore (¢) 121 Crore (d) 131 Crore
(2) Which state population is the highest in India?
(a) Uttar Pradesh (b) Guajrat (c) Maharastra (d) Madhya Pradesh
(3) 2011 Population census was the ........... population census of India.
(a) 1st (b) 10th (c) 12th (d) 15th
(4) Which measure of average is used in calculation of standardized death rate?
(a) Mean (b) Weighted mean (c¢) Geometric mean (d) Median
(5) Which measure of Demography is used to compare health of two cities?
(a) Crude death rate (b) Crude birth rate (c) Standardized death rate (d) Fertility rate
(6 ) At what interval population census is conducted in India?
(a) Every Year (b) Every 5 Years (c¢) Every 10 Years (d) Every 15 Years
( 7) ,In usual notations, CBR___GIR
(@=0)<(@© > =
(8) Which measure of average is used in constrction of cost of living index number?
(a) Mean (b) Weighted mean (¢) Geometric mean (d) Median
(9) What is the index number of base year?
(a) 100 (b) 10 (c) 110 (d) O
(10)  The price of a commodity was increased from Rs. 20 to Rs. 28 what is the index number of price
of this commodity?
(a) 108 (b) 128 (c) 140 (d) 100
(11)  Which types of variation is there in ‘decrease in income of businessmon due to Corona’?
(a) Long term variation (b) seasonal variation (c) Cyclical variation (d) Random (Irregular) variation
(12)  Seasonal variation is which types of variation?
(a) Long term (b) Short term (¢) Random (d) Cyclicle.
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